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Formulas

Discrete Random Variable
E(X)=p=>22f(2)
Var(X) = Ll — 1)’ fl@)

Binomial Probability Distribution
Pw=12) =" Car"(1— )"
E(X) = mp, o(X) = /mp(1 =)

Poisson Probability Distribution
Tl

fla) ="

Exponential Probability Distribution

Z

f(z) = 1e7F

P(AUB) = P(A) + P(B) — P(AN B).
P(A|B) = 208
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Question 1. Circle the best answer.

1. "The grade level (k-12) of a student is an example of a(an).......... scaled variable.

@ nominal.
By ,/@Or/c,uﬁa;.

c)interval.

/c)ratio.
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2. If the correlation is —0.9, then

a) }Hére 15 a strong positive linear relationship.
ﬁthere is a strong negative linear relationship.
’ c) there is a weak positive linear relationship.

d) there is a weak negative linear relationship.

(3,4,5)A survey in Birzeit University was conducted to determine the
number of studying hours per a week. The stem-and-leaf display of the
data is shown below
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\7-What percentage of
a) 0%.

b)5%
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6.If the coefficient of variation is 50%
rd

students who have spent more than 29 hours in study?

and the mean is 30, then the variance is
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7. A student gets quiz grades 60, 70, 75, 80. She gets 80 on her fina) exam. ind
the weighted mean if the quizzes each count for 5% and the final counts for 80%
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(8,99The following table shows the probability distribution for a discrete
random variable X

X |1]2]3[]4]5]

P(x)]0.1]0.1/04]02]02

8. Bz)= /u\—;- ;@\ ©.2 vT 0.3 |

a) 0.2. /,ﬁ Ty b
b) 3.
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None of the above

9. Var(X) =
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10. According Chebysheve’s rule, at least 65%

of all observations in any data set
are contained within a distance of how many stan

dard deviations
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(11,12)The weekly expenditure of a student at BZU is uniformly
distributed from 200 NIS to 400 NIS. One student is randomly selected

11. Find the probability that the expenditure of the selected student is more than
350 NIS.
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12. The 85th percentile of the expenditure of a student of BZU is

a)170 NIS. Y} (e=ty = 5,95
/--’/ oo
b) 180'NIS. g Ligan® o %2
70 NIS. oo
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13. The time it takes a worker to complete a task is exponentially distributed

with a mean of 8 minutes. What is the probability that it will take a worker between
6 and 10 minutes to complete the task?
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' EZL. If events A and B cannot occur at the same time, then events A and B are
said to be in@ependent events ‘ol ot e vy

a) Tr,ue

\@ﬁalse.

15.The measure of variation that is influenced most, by extreme values is the
standard deviation s PLNE

®&AR>=0

/

alse.
oY

16. If electricity power failures occur according to a Poisson distribution with

an average of 4 failures every month, the probability that there will not be more than
N\ one fa,llure durmg a partlcular week

o
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17. An experiment consists of tossing 6 coins successively. The number of sample
points in this experiment is

|
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18. Sixty percent of the students in a class of [ 80 are planning to go to the
graduation ceremony. The variance of this binomial distribution is

a) 0/4. \
b) 4.38 == T%
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% How many 4-digit numbers can be formed from the digits 2, 3, 4, 5, 6, 7.and 8,
which are odd without repeating?

(2) 90, ( S ?Sé
\_/b) 20.

c) 147.
d) 196.

20. If P(A) = 0.6, P(B) = 0.3 and P(AN B) =0.18, then events A and B are

a) mutually“exclusive. @ () E.: AN
@ind endent events.
v (A NN
¢) @ot independent events v S8
) 2
d).can’t tell. ol o @ - 0.6
21. In a left-skewed distribution D%

the mean and the median are equal.

d) can’t tell.
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Question 2 A sample of 100 students at BZU was taken after their stat 236 final exam
to ask them whether the did wel] or poorly on the final. The following table contains
the results.

Did Well in Final || Did Poorly in Final
Female 31 23
Male 34 12

A student selected randomly .
a)What is the probability that this student is female?

P(FY = 3\ 23 = B

Y06

b) What is the probability that this student is fem and did poorly in the test?

F(FOP\ :__2__'_3_ 2 Oal

o
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¢) What is the probability that this student is male or did well in the test?
POH UDwn) = PLHNAR(DY e DOMADY

= U6 4 .85 s,gq/{

d) If this student did well in the test, what is the probability she is female?

P(E/p) = BEOADY | o )
N .6

Ne) Are the two variables Gender and the student level independent? Why?
e

P (Fomad [ Sidewit)) = B(F)
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Question 3. Stat236 grades are normally distributed with f =65 and o = 10.

a)How many students got less than 55, if the number of the enrolled students is 200
Z = R A = S5 _ &S _ _ \
& N O
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(= £ -\) \ —(z 2\)
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: Toe =23 .34
Now e = O X
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b) If a student is selected at random, what is the probability that he/she gets at least
90 *
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